PARTS LIST
ITEM| QTY [ PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.

1 2 RCCLIP ROOFTOP COVER CLIP ANGLE 0.36 0.71
2 2 RCCLIP2 ROOFTOP COVER CLIP LONG 0.62 1.25
3 2 G38112 3/8" x 1-1/2" HDG HEX BOLT GR5 0.07 0.14
4 6 G38FW 3/8" HDG USS FLATWASHER 0.01 0.07
5 4 G38LW 3/8" HDG LOCKWASHER 0.01 0.03
6 4 G38NUT 3/8" HDG HEAVY 2H HEX NUT 0.03 0.14
7 2 X-JB8 J-BOLT, 3/8" X 8" X 6" THREADED 0.33 0.66
8 1 GC4095 1/4" Gr. 40 GALV. CHAIN, 9-1/2' 6.57 6.57

TOTAL WT. # 9.56

\

\

AVAN

\

NN

N\

\

\

DETAIL B

DETAIL A

x
N
x
N

TOLERANCE NOTES DESCRIPTION N ore Y
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: BALLAST TIE-DOWN KIT 1 Engincering  Atlanta, GA
1

SAWED, SHEARED AND GAS CUT EDGES (£ 0.030") . Support Team:  Los Angeles, CA
DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES FOR 10" BALLAST TRAYS . -888-753-7446  Plymoutr, IN
LASER GUT EDGES AND HOLES (2 0.070") - NO CONING OF HOLES A valmont 'Y COVMNY Dallas, TX

BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (% 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO.
ALL OTHER ASSEMBLY (£ 0.0607) CEK  3/24/2015 BHD10-K
PROPRIETARY NOTE: CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO.

TS AN CONSIERED A TRADE SECRET Aot S ave | 81|02 | CUSTOMER |BMC 32412015 BHD10-K

VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

L 40 }

39vd




